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Activity Sheet T3–1a    Review 1
1.  Order Least to Greatest: ⅝, 63.3%,  ⅔, .6, ¾ 
2. Calculate the Mean Average Deviation:  {2, 6, 9, 4, 7}
 ______________________________   
__________________________________
   
[image: image3.wmf][image: image4.wmf]3.  Set A {4, π, ⅜, √3, 0,-9}: ⊂ B {Z} =________________
4. √ 225   = _____________

5.        3x – 1  =  2x + 8       x = _________ 
6.    3.14 X 106  = _____________
7.  Juan spend x dollars on lunch and $3 less than twice that much on dinner.  He spent $66 

     total.   x = ________ 


8.     15m     17m      x = ________               
9.        12m    x        x = ________                

                        

                    x     slope =__________                              10m   slope=_________
                                            Bonus                                                                                                 Bonus          .  
10.  x  =  18            x = ________                   11.  x + 5  =   7       x = ________                     

       3      27                                                              11          3

   

12.  2x +2        2x +2         x = ________      
13.                 7m                                  21m    
 

                                  Perimeter = 44m                                               Area =  108m2

        x                   x                                         Perimeter = 85m

               3x + 4  

                                                                        Area = ________          Perimeter = ________  

                                                                                                               (Bonus)
 What is the Slope and Equation of following sequence: {4, 9, 14, 19, 24,… }?    

14.    Slope:  ________________        15.  Equation: ___________________

                                                                                                                            Slope intercept form                        
16.  Given: (2,4),(-2,4),(3,8),(2,-2),(4,2)     17.  Simple interest:  $120 @ 5% for 3 years _______

 Which point makes it a not function  _________ 
What is the Slope and Equation of the line that goes through the points: (– 4, 6) and (1, –5) ?    

18.  Slope:  ________________        19. Equation: ___________________                           
                                                                                          Slope intercept form                        
 Find Volume; Lateral Surface Area and Total Surface area of :                                              20m                                           

                                                                                                                                                   
                                              20. Volume:  __________________


                                              21. Lateral Surface Area:____________                                    10m 

                                              22.Total Surface Area:_____________
